Corner Mount Adaptor
Pole Mount Adaptor

SBP-300KM1 (IVORY)
SBP-300PM1 (IVORY)
SBP-300KMW1(WHITE)
SBP-300PMW2(WHITE)

@ Hanwha Vision

Package

Product Overview

Installation Precautions

SBP-300KM1/SBP-300KMW1

SEEE

(4EA)

00006
(4EA)

(1EA) (4EA)
SBP-300PM1/SBP-300PMW2

SBEE

2y
“\“‘“\m\\\\\\\\\\\\\\\‘“\\
7 6668
(¢ \ 0
A 4 (4EA)
SR
(2EA) (4EA)

PT01-005759D

m SBP-300KM1/SBP-300KMW1 : This is an adaptor that is used to install the Wall Mount
Adaptor in a corner of the wall.

SBP-300PM1/SBP-300PMW?2 : This product is used to install the Wall Mount Adaptor
onto a pole of at least 80 mm in diameter.

SBP-300KM1/SBP-300KMW1 : Adaptateur permettant d'installer 'adaptateur de
fixation murale dans I'angle du mur.

SBP-300PM1/SBP-300PMW?2 : Ce produit permet de monter 'adaptateur de fixation
murale sur un pylone d'au moins 80 mm de diamétre.

SBP-300KM1/SBP-300KMW1 : Das ist ein Adapter, der zur Montage des Wandadapters
in einer Wandecke verwendet wird.

SBP-300PM1/SBP-300PMW?2 : Dieses Produkt dient zum Montieren des Wandadapters
an einem Mast mit einem Durchmesser von mind. 80 mm.

SBP-300KM1/SBP-300KMW 1 : Este es un adaptador que se utiliza para instalar el
adaptador de montaje en pared en una esquina de un muro.

SBP-300PM1/SBP-300PMW?2 : Este producto se utiliza para instalar el Adaptador de
montaje en pared en un poste de al menos 80 mm de didmetro.

ITA SBP-300KM1/SBP-300KMW!1 : Questo e un adattatore utilizzato per installare
I'adattatore per montaggio a parete in un angolo della parete.

SBP-300PM1/SBP-300PMW?2 : Questo prodotto & utilizzato per installare I'adattatore
per montaggio a parete su un palo di almeno 80 mm di diametro.

SBP-300KM1/SBP-300KMW1 : 3TOT nepexoAH1K NCMonb3yeTca 1A yCTaHOBKN
HacTeHHOro ajantepa B yriy.

SBP-300PM1/SBP-300PMW?2 : 3TOT NpoAyKT UCnonb3yeTca AnA yCTaHOBKM HaCTEHHOTO
KpOHLIJTeIhHa Ha CTO]‘I6, MVUHUMANbHbIN AnameTp KOTOPOro coctaBnaet 80 mm.

:Je]H SBP-300KM1/SBP-300KMW1 : Ta przystawka uzywana jest do montowania Przystawki
sciennej w kacie pomiedzy $cianami.

SBP-300PM1/SBP-300PMW?2 : Ten produkt jest uzywany do montazu przystawek
sciennych na stupie o $rednicy co najmniej 80 mm.

RIV[:3 SBP-300KM1/SBP-300KMW1 : Bu, Duvar Montaj Adaptoriinii duvar koselerine monte
etmek icin kullanilan bir adaptérdiir.

SBP-300PM1/SBP-300PMW?2 : Bu Uirlin, Duvara Montaj Adaptoriinii en az 80 mm ¢apa
sahip bir direge monte etmek icin kullanilir.

SBP-300KM1/SBP-300KMW1: Este é um adaptador usado para instalar o
Adaptador de montagem de parede em um canto da parede.

SBP-300PM1/SBP-300PMW?2: Este produto é usado para instalar o Adaptador
de montagem de parede em um poste com pelo menos 80 mm de diametro.

YD SBP-300KM1/SBP-300KMW1: A4 —)b - XUV b « TA TR HBEDIBICRET
BIDIERTZT7 4 T2TY,
SBP-300PM1/SBP-300PMW2 : ZD#GEAEFERL T, 74—V -V k- 74
TR EBEENOMMEBZ HHHCHRBELET,
CHI SBP-300KM1/SBP-300KMW1 : X2 A FEEARERE F 25 MERes.
SBP-300PM1/SBP-300PMW2 : A= @A TS FRikiEfiss REIERED
71 80 EARHIREF £,
SBP-300KM1/SBP-300KMW1 : £ ME2 #Ho| ZA2|20f Wall Mount Adaptors
MA| Al AFBBH= Adaptor YLICt

SBP-300PM1/SBP-300PMW?2 : £ H|Z2 80mmo| 42| #7|S0 Wall Mount
Adaptor & H%| A| Al&3t= Adaptor iLICh

b

Make sure that the installation place can endure at least 4 times of the total weight of
the Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and
Camera.

Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.
When installing the product outdoors, use interlocking devices made of stainless steel.
This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

If you install the Corner Mount Adaptor on a concrete wall, it is recommended to use
M10 Anchor Bolts (Nuts) along with plain and spring washers.

Assurez-vous que I'emplacement de l'installation peut supporter au moins 4 fois le
poids total de I'adaptateur de fixation sur pyldne/d'angle, de I'adaptateur de fixation
murale, de I'adaptateur pour fixation suspendue et de la caméra.

Chaque boulon utilisé doit pouvoir résister a une force d'extraction de 700 kg.
Sivous installez le produit a I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

Si vous fixez I'adaptateur de fixation murale ™ un mur en béton, nous vous conseillons
d'utiliser des boulons d'ancrage M10 (écrous a river) avec rondelles de ressort et plates.

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht der Eck-/
Masthalterung, des Wand- bzw. Hangeadapters und der Kamera tragen kann.
Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, miissen Verriegelungseinrichtungen aus
Edelstahl verwendet werden.

Bei der Montage dieses Produkts benotigt man Ankerbolzen und Muttern (M10).

Wenn Sie die Eckhalterung an einer Betonwand befestigen, wird die Verwendung von
M10 Ankerbolzen (Muttern) und von Unterleg- bzw. Spannscheiben empfohlen.

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total
del adaptador de montaje en esquina/poste, el adaptador de montaje en pared, el
adaptador de montaje en suspension y la cdmara.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de
700 kg.

Alinstalar el producto en exteriores, utilice dispositivos de interbloqueo de acero
inoxidable.

Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la
instalacion.

Siinstala el adaptador de montaje en esquina en un muro de hormigén, se recomienda
utilizar pernos de anclaje M10 (tuercas) junto con arandelas planas y de muelle.

ITA Assicurarsi che il punto prescelto per l'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio ad angolo/su palo, adattatore
per montaggio a parete, adattatore per montaggio sospeso e videocamera.

Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione
di 700 kg.

Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio
inossidabile.

Questo prodotto & progettato per utilizzare bulloni (dadi) di ancoraggio M10 per
l'installazione.

Se si installa I'adattatore per montaggio ad angolo su un muro di cemento, si
raccomanda di utilizzare bulloni (dadi) di ancoraggio M10 con rondelle piane ed
elastiche.

m ® Y6enuTech, YTO MECTO YCTaHOBKY BbIAEPXKMBAET BEC MPUMEPHO B 4 pasa 6onbLunit
oblLero Beca yrnoBoro afantepa/ana KpenneHns K KOSIOHHe, a Take HaBeCHOro
apanTepa 1 Kamepbl.

Kaxpablit ncnonb3yembli KpenexHblit 60NT JOMKEH BbIAEPXKINBATDL CUNY
n3BneyeHms, pasHyto 700 Kr.

Ecnvn npoayKT ycTaHaBNMBaeTCA BHe NOMELLEHNA, HEOGXOAMMO NCMONb30BaTb
YCTPOIICTBO 6IOKMPOBKM U3 HepXKaBeloLLei CTanu.

® J1nA yCTaHOBKM 3TOr0 NPOAYyKTa UCMOMb3YIOTCA KpenexHble 6onTbl (ranku) M10.
® [pw ycTaHOBKe YrN0BOro agantepa Ha 6ETOHHOM CTeHe PeKOMEHAYeTCA
MCMonb30BaTb KpenexHble 60/1Tbl (raiikn) M10, a Takxke Nnockue 1 NpyUHHbIE
Wanbbl.



POL

JAP

CHI

® Upewnij sig, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wiekszy od
tacznej wagi Przystawki do montazu na stupie/przystawki katowej, Przystawki
$ciennej, Przystawki wiszacej i Kamery.

Kazda kotwa musi mie¢ zdolnos¢ wytrzymania sity wyciggania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywac blokad ze stali
nierdzewnej.

Produkt ten nalezy montowac za pomoca kotew (nakretek) M10.

W przypadku montazu Przystawki katowej na $cianie betonowej zalecane sg kotwy
(nakretki) M10 oraz podktadki zwykte i sprezyste.

® Montaj yerinin Kose/Direk Montaj Adaptériiniin, Duvar Montaj Adaptdriiniin, Askili
Montaj Adaptériniin ve Kamera'nin toplam agirliginin en az 4 katina dayanikli
oldugundan emin olun.

Kullanilacak her ankraj civatasi, 700 kg'lik bir cekme kuvvetine dayanikli olmalidir.

UriinG dis mekana kurarken, paslanmaz celikten yapilmis i¢ kilit mekanizmalari
kullanin.

Bu iirlin, M10 ankraj civatalariyla (somunlar) birlikte kullanilmak icin tasarlanmustir.
" Koseye Montaj Adaptorinii beton bir duvarda kullanacaksaniz, diiz ve yayl
rondelalara sahip M10 ankraj civatalarinin (somunlarin) kullanilmasi énerilir.

Certifique-se de que o local de instalagdo suporta pelo menos 4 vezes o peso total
do Adaptador de montagem de poste/canto, do Adaptador de montagem de
parede, do Adaptador de montagem pendurada e da camera.

Cada parafuso de ancoragem a ser usado precisa suportar uma forca de extragdo
de 700 kg.

Ao instalar o produto em érea externa, use engrenagens de aco inoxidavel.

Este produto foi criado para ser usado com parafusos de ancoragem M10 (porcas)
na instalacao.

Se vocé instalar o Adaptador de montagem de canto em uma parede de concreto,
recomenda-se usar parafusos de ancoragem M10 (porcas) junto com arruelas
simples e de pressao.

BRBHADN. A—F—/R—I)V IV - TETR TA—)V XTI b -
TETRNIFEVT ROV - FETRBELCHASDEFEEDRK
MEETMASND T EEBRL TS,

FERTBET7VH— + RIb bE 700kgDIREAITHA SNE T,
COHREBMCREYT 2581 A7V L ABOESEBRFERLTIIEEL,
TORGE. MIOT7VA—RILS (Fyb) BERBLTRELET,
VY= MO CO—F— UV b - TRATRERET BEE

& MI07>YA— - RILh (Fvb) & FTYIv—BLUTRTUVS -
Ty v—5ERTHEESEHLET,

BRRRRUBEVANASAR/MARKERS. B LRRERR BERE
BRSNS ERMN 4 BN,

EFEANSMNEKRLIBY B EZ 700 RTHHKENE,

ERNGEF R, FEATHNHIENRIEEE,

FE@RtHER M0 BERE (R8) #TREK.
MEFARTRENSRFTRATEL, ¥ MI0 BERE (B8) 5RF
BRENEELSEEA,

MX|Z= A7t Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount
Adaptor, Camera2|ZE 2|40 4S 5| AE £ UL R0 AX|stHL.

MX|El 2tzto| U7t BEE 700kg2] Lol AC|ofo} FLICt.

S9l0f| MX| Al HIZRE AHQIHA HES ABBHAHIL.

0| HIE2 M109| 27t BE (LE)E AHESHEE H7A|E|of QBLIC

Corner MountA daptor & 232|E#o|| Mx|g 2 M109| 27t BE(1E)E
Lot 3 AZROtAQ} | AL SHAIR.

Installation

SBP-300KM1/SBP-300KMW1

1 Mark and drill 8 holes into the Corner Mount Adaptor where you will insert
the Anchor Bolts or Nuts (M10), and fasten the Corner Mount Adaptor with
the Bolts, plain and spring washers.

2 Insert the cables through the Corner Mount Adaptor.

3 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.

= For more information, refer to the installation guide of the Wall Mount Adaptor.

N Corner Mount Adaptor

Plain Washer Anchor Bolt
Spring Washer
Anchor Bolt

Wall Mount Adaptor
(SBP-300WM)

SBP-300PM1/SBP-300PMW2

1 Select a pole to install and confirm the installation height.

2 Use the Stainless Steel Mounting Strap to secure the Pole Mount Adaptor to
the pole.

3 Insert the cables through the Pole Mount Adaptor.

4 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.

= For more information, refer to the installation guide of the Wall Mount Adaptor.

Stainless Steel Mounting Strap

Pole Mount Adaptor

Plain Washer
Spring Washer

Anchor Bolt

Wall Mount Adaptor
(SBP-300WM)



